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Rebbee taught here; the borrower is not permitted to lend

OVERVIEW

The mwn taught that if the husband told the vx1 9w, ‘retrieve for me an object
from my wife’, the m°%w may not appoint another 7°%w. From this w°p% w1 inferred
that °27 in this mwn taught us the rule that a borrower (?X1) may not lend out
(°xwn%) what he borrowed to someone else.! Moo reconciles our X3 with a
seemingly contradictory Xna.
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Even according to the one who maintains in 7°pp»7? P79, a watchman who

delivered what he was watching to another 922, the first "W is 9L if the item

was destroyed, the reason is -
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That since he gave it over to a responsible person, therefore the owner cannot
say to the original "mw, ‘I do not want my deposit to be in the hand of
another’, but rather the "W is Mws —

mooIn replies:
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Granted that this 7" maintains that he is not 2%m1, nevertheless initially one
should not do this; giving over a deposit to another.

SUMMARY
One can maintain 700 WYY 0nYw MW and that 797027 2°RWAY SRW 2RWT PR.

THINKING IT OVER
How can we compare the two cases; in our mwn if he gave the v to another 7w
and the second 2w took the object from the woman and lost it, the first m°5w will

! He cannot make another m9w for perhaps the husband trusts only the original M.
? The X1 there explains that this rule holds (according to this 7"7) even if a 12w W transferred it to a 0 "W and
there was an 01X, the w"w is Mw>.
? The question is how we can reconcile that opinion with this which "1 states here that *27 73w 185 that one may not
transfer a 179 to someone else, and presumably he will be 217 for its loss.
#5231 merely teaches us that 2Xwi> *XwA X X, but there is no indication whether he will be 21 or Mws, if he did
it.
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be My, therefore in this case the husband is 75pn that he should not give the v3 to
a "W mow, since he will suffer a loss, however by mw> "0nw W, the first MW
will be 21 (for whatever he is 2711 as a Ww)° even if he gives it to a "1 MW, so
the owner does not care that much if he gives it over to another "mw! Why is there
a contradiction?!”

* We cannot obligate him since he never took the item from the woman.

® This means if he was a 07 1 he will be 21 for the 7¥°ws of the second M, and if he is a w"w he will be 2*n
for the 777°2R1 772°13 of the second w.

7 See 2py> nxoN.
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